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Lund/Barnard USPAS 2015

2. Avelocity perturbation E;' on a long coasting beam
with center position s = s, has the initial form:

2
- <
2'=0 exp(m Xi)

There is no initial density perturbation (A, = 0). The space
charge wave velocity of the beam is ¢, and the beam
velocity is v,.

What is the density of the perturbation after the beam
center propagates a distance s-s,? What is the velocity

perturbation z' for the same location of the beam
center?

Sketch 2, and z,' vs. z at a point when s-s,> v, Alc,.
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